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1. a) Expand the expression 
(x + 4) (2x-3) (2mk)
b) Without using long multiplication, use the above expansion with an appropriate substitution for x to find the value of
 (29 x37) (2mks)
2. Line l1 passes through point (1, 2) and has a gradient of 5. Line L2 is perpendicular to L1 and the two lines meet at a point where x = 4. Find the equation of L2 in the form y = mx + c (4mks)
3. A rectangle whose length is 7cm longer than its width has an area of 120 cm2.
a) Taking x to represent the length of the rectangle, form a quadratic equation in x for the area of rectangle (1mk)

b) By factorising solve the quadratic equation and hence state the dimension of the rectangle (2mks)

4. a) A saleslady is paid commission at the rate of 3% in every shilling on all goods she sells. During one month, she sold 12 television sets at shs15500 each, 8 cassette sh5650 each and 4 refrigerators at shs21700 each. Calculate the total commission she earned that month. (3mks)
b) An article which is marked for sh450 is sold to a customer for sh393.75. What percentage discount is the customer allowed (2mks)
6. In the figure, ABCD is a trapezium in which AD is parallel to BC. Given that AD = 25cm, BC = 15cm, AB = 12.8cm and angle DAB = 400, calculate the area of the trapezium (3mks)
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7. Without using mathematical tables or a calculator, evaluate (3mks)
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8. Given that a = 2, b = -1 and c = 3, find the value of (3mks)
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9. Solve the equations
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a)(2mk)
b)(2mks)
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c)2mks)

10. In the figure, ABCD is a rhombus whose diagonals AC and BD meet at x. Given that AC =27.6cm and BD = 16.2cm. Calculate the area of the rhombus (2mks)
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11. The figure below shows a square based right pyramid ABCDV of 4cm. The slant edges are all 6cm long 
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a) Draw a labelled net of the pyramid (2mks)

b) Use your net to find:
i) The slant height of the pyramid (2mks)

ii) The total surface area of the pyramid (3mks)
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